{1} If the KILOCYCLE dial reading is incorrect
by less than 3 ke in the same direction by the same
amount at both ends of the MEGACYCLE dial, cor-
rect as follows:

a. Be sure BFO is set at 500 ke as in
paragraph 5. 3.6,

h. Tune the receiver to zero baat at some
100 ke check point on the dial.

¢, Set KILOCYCLE fiducial line to zero-
zerp on the KILOCYCLE dial by turning the ZERO
AD knob,

{2) If the KILOCYCLE dial reading is incorrect
by more than 3 ke in the same direetion by the sume
amount at both ends of the MEGACYCLE dial,
correct as [ollows:

a, Be surc BFO is get at 500 ke as in
paragraph 5. 3. 6.

b. Tune to zero bcat at 1, 5 me,

¢. Set KILOCYCLE fiducial line to center
index mark on escutcheon opening by turning ZERO
ADJ knaob,

d. Loosen set screws in the circular
KILOCYCLE dial and set to zero-zero. Tighten
set screws.,

(3) If the two errors in the KILOCYCLE dial
roadiqg arc cither opposite in direction or differcnt
in size, it indicates that the VFO end points have
drifted. Correct as follows:

A, Be surc BFOQ is set at 500 ke as in
paragraph 5. 3. 6. Tune receiver to zero heal at
1.5 me on band 2,

b, If the zero-zero mark on the KILOCYCLE
diat lies within the lines on the cscutcheon opening,
set KILOCYCLE fiducial line to zero-zero on the
KILOCYCLE dial by turning the ZERO ADJ knok.

c. If the zero-zero mark lies cutside the
lines on the escutcheon opening, loosen set scrows
in the KILOCYCLE dial. Set fiduecinl to the conter
line in the escutcheon opening, Rotate KILOCYCLE
dial until zero-zero mark lines up with the fiducinl.
Tighten set screws.

d. Rotate KILOCYCLE knob approximately
ten furns to zero beat, This procedure tuncs the
receiver to 2.5 me.

Section 5
MAINTENANCE

o. Now note the error in the KILOCYCLE
dial reading.

f. If this errer is less than £3 ke, sct the
fiducial to 2.5 me by turning thec ZERO ADJ knoh.
This procedurc scts the point of maximum accuracy
at 2.5 me. I maximum accuracy is desired at some
other eheck point in the band, tune the receiver to
#»cro beat at the desired check point. Then adjust
fidueial to zero-zero on the KILOCYCLE dial.

g. If this cerrory is more than %3 ke, refer
to paragraph 5.3.15. for ingtructions.

(¢} VFO SHAFT, - Check the vio frequency
againgt a known gource f{o determine whether the
vfo shaft has becn displaced a full turn and thereby
has shifted the vio frequency exactly 100-ke. Using
a signal generator having an accuracy of 1 percent
of £20 ke or ancther 51J-4 known to be properly
aligned, check as follows:

{1) If a signal geonerator is used set the ro-
ceiver bfo at exactly 500 ke as in paragraph 5.3.6.
Turn the 100-ke¢ oscillator ofl. Cennect the cutput
of the signal generator to pin 7 of V106 with a clip
lead. Set the genearator at 2.4 mc., Tune the re-
ceiver to zero heat with the bfo at ahout 2, Q me.
{The vfo is now set at approximately 2,5 me, ) If
the vfo shaft is displaced a full turn, zero beat will
occur at approximately 1.9 me or 2.1 me instead
of 2,0 me, For exact setting of the receiver, remaove
the signal generator and conneet a clip lead from
pin 7 of V106 1o the 100-ke oscillater output at C173.
Turn on the 100-ke oscillator and tune recciver to
soro beat with the bfo,

(2) If an accuratcly aligned 51J-4, hercafter
cialled the test receiver, ig used, couple the antenna
of the test receiver to the output of the vio bheing
tested, Set test recciver bfo at 500 ke as in para-
graph 5. 3,6, Tune test receiver dials to 2.5 me
by zoro beating with the bfo.  Tune the recciver
containing the vto being checked to where zero beat
is vhserved in thetest receiver output, If the shaft
of the vto being checked has becn displaced a full
turn, the zero beat will occur when the receiver
being checked is tuned te 1.9 or 2.1 me instcad of
2.0 me,

(:3) If steps (1) or (2) above reveal that the vio
shalt is displaced a full turn, note whether the zero
beat observed was above or below 2, 0 me. and loosen
the sct serews in the vio coupler, The set screws
arc aceessible [rom the bottom of the chassis,
NQOTE--The vio shaft will have to be turned to gain
aceess 1o the screws,  The point at which the sccond
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